Use nominalisation to transform the following sentences.

.1 Heart rates increased in proportion to the levels of activity
The increase in heart rates was proportionate to levels of activity.

.2 The researchers decided to widen their study, and this made the results more
reliable.
The decision to widen the study improved the reliability of results.

.3 The study examined the impact of greenhouse gases and showed that high
levels of CO2 can affect how quickly plants grown.

An examination of the impact of greenhouse gases showed the impact of CO2
on the speed of plant growth.

.4 Direct and indirect approaches were compared and this highlighted the
relative strengths and weaknesses of various types of indirect feedback.

A comparison of direct and indirect approaches highlighted relative strengths
and weaknesses of various types of indirect feedback.



